@ DH Instruments

A Fluke Company

PPC4™ Rack Mount Kit

P/N 3338072
Instruction Sheet

Rack Mount Kit for PPC4, P/N 3338072,
includes:

DESCRIPTION QTY PART NO.
Front Support Bracket 2 3349731
Spacer 6 3387100
M5 x 25 Screw 6 3387117
Rear Support Bracket 2 3349722

Introduction

This kit provides the brackets and hardware necessary
to install a PPC4 pressure controller/calibrator into a
rack system. This document contains instructions for
installing the brackets.

Installation Instructions

In order to access and remove the 6 side plugs for the
brackets to be installed, the PPC4 chassis cover must
be removed.

A A Warning

To avoid electric shock, disconnect
mains power before removing the
chassis cover.

©® Remove the chassis cover: Unscrew the eight
screws that are on the top, right and left edges of
the PPC4 rear panel.

® Back the cover from the closed and secure
position: Using the two M3 x 20 mm screws in
the PPC4 accessory kit, gradually back the cover
from the closed position using both screws (See
Figure 1). The cover is moved back by about 10
mm (.04 inch).

© Lift the cover off the chassis: Remove or retract
the two screws and lift off the cover from the
PPC4 chassis (See Figure 1). Take out the six
side plugs and replace the cover.

O Remove the four feet: Stand the PPC4 on it's side
to remove the feet.

A Warning

Do not lay the PPC4 on the rotate-
and-click knob located on the front
panel. (See Figure 2)

Insert a 6 mm diameter round screwdriver into the
hole marked “Release Tab” on the feet and pry
inward. The feet will snap off (See Figure 2).

Figure 1: Removing the PPC4 Chassis Cover

Attach the front support brackets: Drop in
spacers (x6) where the side plugs were. Place one
front support bracket (x2) on each side of the
PPC4. Position each bracket with the 3 holes on
the side. Attach brackets to sides using the
M5 x 25 screws into the spacers (See Figure 3).

Attach the rear support brackets: Place one
rear support bracket (x2) on the back of the PPC4.
Position each bracket by lining up with the
appropriate holes on the back of the PPC4. Attach
brackets (x2) to the PPC4 back panel using four
(4) of the PPCA4 rear panel screws (See Figure 3).

ROTATE-AND-
CLICK KNOB

RELEASE TAB (x4)

/ PPC4 FEET (x4) \

Figure 2: Removing Feet from PPC4



M5 x 25
SCREW (x8)

SPACER (x8)

REAR PANEL
SCREWS (x4)

Figure 3: Installing the PPC4 Brackets

® For adequate support of the PPC4, the rear
support brackets shall be supported on the side
rails of the rack system or by other means.

FRONT SUPPORT
BRACKET (x2)

Document 3349779 Rev B

090126

DH Instruments,

a Fluke Company

4765 East Beautiful Lane
Phoenix AZ 85044-5318 USA

D H I 4 DH Instruments

A Fluke Company

Tel 602.431.9100
Fax 602.431.9559
dhi@dhinstruments.com
www.dhinstruments.com



